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1) The best meaning of Research is

A) Adoption of 'Scientific Method' for creation and application of knowledge

B) Adoption of critical and constructive thinking for solution of problems

C) Arriving at generalisations based on observed data

D) Search for universal truths of life

g§emoYZmMm CÎm‘ AW© Amho.

A) kmZmMr {Z{‘©Vr Am{U  Cn¶moJ H$aÊ¶mgmR>r  "d¡km{ZH$ nÕV' ñdrH$maUo

B) g‘ñ¶m§À¶m {ZamH$aUmgmR>r J§̂ ra Am{U {dYm¶H$ {dMmagaUrMm Adb§~ H$aUo

C) gmXa Ho$boë¶m S>oQ>mÀ¶m AmYmao/{ZarjUmVyZ gm‘mÝ¶rH$aUmH$S>o

D) OrdZmVrb gmd©{ÌH$ gË¶m§Mm emoY KoUo
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2) Which of the following qualitative research method?
A) Interview method B) Survey method
C) Experiential method D) Historical method
Imbrbn¡H$s H$moUVr JwUmË‘H$ g§emoYZ nÕV Amho.
A) ‘wbmIV nÕV B) gd}jU nÕVr
C) AZŵ dmË‘H$ nÕV D) Eo{Vhm{gH$ nÕV

3) While sampling, if a researcher decides to interview every 15th name on a list,
it is an example of
A) Quota sampling B) Systematic sampling
C) Deliberate sampling D) Sequential sampling
Z‘yZm KoVmZm, Oa EImÚm g§emoYH$mZo {ZU©¶ KoVbm Va ¶mXrVrb àË¶oH$ 15 ì¶m ZmdmMr ‘wbmIV KoUo
¶mMo EH$ CXmhaU Amho.
A) H$moQ>m Z‘wZm B) nÕVera Z‘wZm
C) ‘wÔm‘ Z‘wZo V¶ma H$aUo D) AZwH«${‘H$ Z‘wZo

4) The good quality of a research is its
A) Objectivity B) Reliability
C) Usability D) Replicability
g§emoYZmMr Mm§Jbr JwUdÎmm åhUOo Vr
A) dñVwpñWVr B) {dœgZr¶Vm
C) Cn¶mo{JVm> D) à{VH¥$Vr

5) In ANOVA, if the true means of the k population are equal, then MSTR/MSE
should be:
A) a negative value between 0 and –1
B) close to 0.00
C) close to 1.00
D) not enough information to make a decision
EZmodm‘Ü¶o, Ho$ bmoH$g§»¶oMo Iao gmYZ g‘mZ Agë¶mg, E‘EgQ>rAma/E‘EgB© ho AgmdoV:
A) 0 Am{U – 1 Xaå¶mZ ZH$mamË‘H$ ‘yë¶
B) 0.00 À¶m Odi
C) 1.00 À¶m Odi
D) {ZU©¶ KoÊ¶mgmR>r nwaoer ‘m{hVr Zmhr
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6) The incorrect statement in this set is
A) Evaluation studies are based on objectives of a project
B) Research is examination of conditions under which a phenomenon exists
C) Evaluation exercises are spread across different stages of a project
D) There is no difference between evaluation and research studies

¶m g§Mm‘Yrb MwH$sMo {dYmZ Amho.
A) ‘yë¶m§H$Z Aä¶mg àH$ënmVrb CÔrï>m§da AmYm[aV AmhoV
B) g§emoYZ hr n[apñWVrMr VnmgUr Amho Á¶m A§VJ©V KQ>Zm KSy>Z ¶oVo
C) ‘yë¶m§H$Z ì¶m¶m‘ EImÚm àH$ënmÀ¶m doJdoJù¶m Q>ßß¶mV ngabobo AgVmV
D) ‘yë¶m§H$Z Am{U g§emoYZ Aä¶mgm‘Ü¶o H$mhrM ’$aH$ Zmhr

7) Smaller P value indicates more evidence in support of:
A) further testing B) the quality of researcher
C) the alternative hypothesis D) the null hypothesis

bhmZ nr ‘yë¶ ¶m g‘W©ZmV A{YH$ nwamdm Xe©dVo
A) nwT>rb MmMUr B) g§emoYH$ JwUdÎmm
C) d¡H$pënH$ J¥hrVH$ D) eyÝ¶ J¥hrVH$

8) A survey determines that in a locality, 33% go to work by Bike, 42% go by
Car, and 12% use both. The probability that a random person selected uses
neither of them is
A) 0.75 B) 0.61
C) 0.37 D) 0.29

EH$ gd}jU Ago R>adVo H$s gd©gmYmaUnUo, 33% XþMmH$sdê$Z H$m‘mda OmVmV, 42% H$maZo OmVmV,
Am{U 12% ho XmoÝhr dmnaVmV. ¶mÑpÀN>H$ ì¶{º$ {ZdS>bobr g§̂ mì¶Vm Ë¶mn¡H$s EH$hr ZgVo.
A) 0.75 B) 0.61

C) 0.37 D) 0.29

9) Which type of method of attitude measurement is called ranking?
A) Variability method B) Quantitative judgment method
C) Fractional method D) Constant sum method

H$moUË¶m àH$maMr d¥Îmr ‘mnZ H$aÊ¶mÀ¶m nÕVrg a±qH$J åhUVmV?
A) n[adV©Zr¶Vm nÕV B) n[a‘mUmË‘H$ {ZU©¶ nÕV
C) A§emË‘H$ nÕV D) pñWa ~oarO nÕV
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10) The Chi-square test can be used:

A) to make inference about a population mean

B) to test for homogeneity of proportions

C) to test for difference in two variances

D) for pairwise multiple comparisons of means

H$m¶ - ñ¹o$Aa MmMUr dmnabr OmD$ eH$Vo.
A) bmoH$g§»¶o{df¶r AZw‘mZ H$mT>Uo
B) à‘mU EH$ê$n hmoÊ¶mgmR>r MmMUr H$aUo
C) XmoZ ê$nm§‘Ü¶o ’$aH$ VnmgÊ¶mgmR>r
D) AZoH$ àH$maÀ¶m AWmªMr VwbZm H$am

11) Since α = probability of type I error then what is 1- α?

A) Probability of rejecting H0 when H1 is true

B) Probability of not rejecting H0 when H1 is true

C) Probability of not rejecting H0 when H0 is true

D) Probability of rejecting H0 when H0 is true

Type α = àH$ma I Mr g§̂ mì¶Vm ÌwQ>r‘wio 1- α åhUOo H$m¶?
A) EM 1 gË¶ Agë¶mg EM 0 ZmH$maÊ¶mMr e³¶Vm
B) EM 1 gË¶ Agë¶mg EM 0 Zm ZmH$maÊ¶mMr e³¶Vm
C) EM 0 gË¶ Agë¶mg EM 0 Zm ZmH$maÊ¶mMr e³¶Vm
D) EM 0 gË¶ Agë¶mg EM 0 ZmH$maÊ¶mMr e³¶Vm

12) Mean, Median and Mode are:

A) Measures of deviation

B) Ways of sampling

C) Measures of control tendency

D) None of the above

‘mÜ¶, ‘Ü¶ Am{U ‘moS> AmhoV
A) {dMbZmMo Cnm¶
B) Z‘wZo KoÊ¶mMo ‘mJ©
C) {Z¶§ÌU àd¥ÎmrMo Cnm¶
D) darbn¡H$s H$mhrhr Zmhr
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13) Which of the following variables cannot be expressed in quantitative terms?

A) Socio-economic status B) Marital Status
C) Numerical Aptitude D) Professional Attitude
Imbrbn¡H$s H$moUVo Mb n[a‘mUdmMH$ eãXmV ì¶º$ H$aVm ¶oV Zmhr?
A) gm‘m{OH$ Am{W©H$ pñWVr B) d¡dm{hH$ pñWVr
C) g§»¶mË‘H$ ¶mo½¶Vm D) ì¶mdgm{¶H$ Ñ[ï>H$moZ

14) The probability of rejecting the null hypothesis when it is true is called:
A) Difficult to tell B) Power of the test
C) Level of significance D) Level of confidence
Ooìhm eyÝ¶ J¥hrVH$ gË¶ hmoVo Voìhm Vo ZmH$maÊ¶mÀ¶m g§̂ mì¶Vog Ago åhUVmV:
A) gm§JUo H$R>rU B) MmMUrMr eº$s
C) ‘hÎd nmVir D) AmË‘{dœmg nmVir

15) All statement about qualitative research are true except:
A) The information is in depth and rich in content
B) Requires a lot of skill in interpretation
C) Is more time and cost consuming than quantitative research
D) Can be used to test causal hypothesis
JwUmË‘H$ g§emoYZm~ÔbMo gd© {dYmZ gË¶ AmhoV ho dJiVm:
A) ‘m{hVr gImob Am{U gm‘J«r‘Ü¶o g‘¥Õ Amho
B) ñnï>rH$aUmV Iyn H$m¡eë¶ Amdí¶H$ Amho
C) n[a‘mUmË‘H$ g§emoYZmnojm OmñV doi Am{U IM© bmJVmo
D) H$maUmË‘H$ J¥{hVH$ VnmgÊ¶mgmR>r dmnabo OmD$ eH$Vo

16) What sampling design is most appropriate for cluster sampling?
A) quota sampling
B) stratified random sampling
C) simple random sampling with replacement
D) simple random sampling without replacement
³bñQ>a g°ånqbJgmR>r H$moUVr g°ånqbJ {S>PmBZ gdm©V ¶mo½¶ Amho?
A) H$moQ>m Z‘wZm
B) ñVarH¥$V ¶mÑpÀN>H$ Z‘wZo
C) nwZñWm©nZogh gmonr ¶mÑpÀN>H$ Z‘wZo
D) nwZpñW©V Z H$aVm gmonr ¶mÑpÀN>H$ Z‘wZo
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17) The hypothesis is true but the test rejects it means

A) Wrong decision B) Type II error

C) Type I error D) Correct decision

J¥hrVH$ gË¶ Amho na§Vw MmMUr AñdrH$ma H$aVo ¶mMm AW©
A) MwH$sMm {ZU©¶ B) àH$ma II ÌwQ>r
C) àH$ma I ÌwQ>r D) ¶mo½¶ {ZU©¶

18) If the ratio of change between the two variables is a constant then there will be

A) Linear correlation B) Non-linear correlation

C) Negative correlation D) Positive correlation

Oa XmoZ ìho[aE~ëg‘Yrb ~XbmMo JwUmoÎma pñWa Agob Va
A) aoIr¶ ghg§~§Y B) Zm°Z-aoIr¶ ghg§~§Y
C) ZH$mamË‘H$ nañnag§~§Y D) gH$mamË‘H$ ghg§~§Y

19) Which of the following tasks is not a part of research design?

A) Design the exploratory, descriptive and/or causal phases of research

B) Construct and pretest a study instrument

C) Formulate the sampling plan

D) Develop hypothesis

Imbrbn¡H$s H$moUVo H$m¶© g§emoYZ aMZoMm ^mJ Zmhr?
A) g§emoYZmÀ¶m emoYmË‘H$, dU©ZmË‘H$ Am{U/qH$dm H$maUmË‘H$ Q>ßß¶m§Mr aMZm H$aUo
B) Aä¶mgmMo gmYZ Am{U nyd© MmMZr H$aUo
C) Z‘wZm ¶moOZm V¶ma H$aUo
D) n[aH$ënZm {dH${gV H$aUo

20) A research paper is a brief report of research work based on

A) Primary Data only B) Secondary Data only

C) Both Primary and Secondary Data D) None of these

emoY{Z~§Y åhUOo g§emoYZ H$m¶m©Mm EH$ g§{já Ahdmb
A) Ho$di àmW{‘H$ ‘m{hVr B) Ho$di Xþæ¶‘ ‘m{hVr
C) àmW{‘H$ Am{U Xþæ¶‘ ‘m{hVr XmoÝhr D) ¶mn¡H$s Zmhr
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21) In-which of the methods the entire population is divided into a number of
homogeneous groups
A) two stage sampling B) cluster sampling
C) simple random sampling D) stratified random sampling
H$moUË¶m nÕVt‘Ü¶o g§nyU© bmoH$g§»¶m AZoH$ EH$g§Y JQ>m§‘Ü¶o {d^mJbr Jobr Amho
A) XmoZ Q>ßß¶mV Z‘wZm B) ³bñQ>a Z‘yZm
C) gmYo ¶mÑpÀN>H$ Z‘wZo D) ñVarH¥$V ¶mÑpÀN>H$ Z‘wZo

22) Which is the process not needed in experimental research?
A) Manipulation and replication B) Controlling
C) Absence of treatment group D) Observation
àm¶mo{JH$ g§emoYZmV H$moUVr à{H«$¶m Amdí¶H$ Zmhr?
A) hmVmiUo Am{U à{VH¥$Vr B) {Z¶§{ÌV H$aUo
C) CnMma JQ>mMr AZwnpñWVr D) {ZarjU

23) A technique used when selecting cluster of different size is called:
A) Probability proportional to size or pps
B) Two-stage sampling
C) Quota sampling
D) Cluster sampling
doJdoJi¶m AmH$mamMo ³bñQ>a {ZdS>VmZm dmnaë¶m OmUmè¶m V§Ìmbm Ago åhUVmV:
A) AmH$ma qH$dm nrnrEgMr g§̂ mì¶Vm
B) XmoZ-MaUm§Mo Z‘wZm
C) H$moQ>m Z‘wZm
D) ³bñQ>a Z‘wZm

24) One of the following precautions is not needed at the time of finalising a
research report.
A) All findings are related to research questions
B) Validity and reliability of data are ensured
C) Generalisations of the study are in agreement with existing theories
D) Analysis adopted in suitable to data used
Ahdmbmbm A§{V‘ ê$n XoVmZm Imbrbn¡H$s EH$ H$miOr KoÊ¶mMr JaO Zmhr.
A) gd© {ZîH$f© g§emoYZ àíZm§er g§~§{YV AmhoV
B) S>oQ>mMr d¡YVm Am{U {dœmgmh©Vm gw{Z{üV Ho$br OmVo
C) Aä¶mgmMo gm‘mÝ¶rH$aU ñmÜ¶mÀ¶m {gÕm§Vm§er gh‘V Amho
D) dmnaë¶m OmUmè¶m S>oQ>mÀ¶m AZwê$n {dûbofU
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25) In a tabular representation, the data sources are usually given in the

A) Footnote B) Table heading

C) Bibliography D) As a special mention

gmaUr~Õ à{V{Z{YËd ‘Ü¶o, S>oQ>m ñÌmoV ghgm ‘Ü¶o {Xbo OmVmV.

A) ViQ>rn B) Q>o~b ‘Wim

C) J§«WgyMr D) {deof C„oI åhUyZ

26) The regional imbalances can be reduced by

A) Heavy industries B) MNC's

C) Small scale industries D) Government intervention

àmXo{eH$ Ag§VwbZ ............. Zo KQ>{dVm ¶oVo

A) OS> CÚmoJ B) ~hþamḯ>r¶ H§$nZr

C) bKw CÚmoJ D) gaH$mar hñVjon

27) Moving from a specific conclusion to a general conclusion means______

A) Deductive method B) Inductive method

C) Idealist D) None of these

{d{eï> {ZîH$em©H$Sy>Z gd©gmåmmÝ¶ {ZîH$em©H$S>o OmUo åhUOo ............... hmo¶.

A) {ZJ‘Z nÕVr B) {dJ‘Z nÕVr

C) AmXe©dmXr D) ¶mn¡H$s Zmhr

28) What or who governs over the Federal Government's finances and financial
decisions?

A) Public Service Act B) Constitution Act 1867

C) Financial Administration Act D) Department of Finance

g§Kr¶ gaH$mar {dÎm d {dÎmr¶ {ZU©¶ ¶m§Zm H$moU {Z¶{‘V H$aVo?

A) gd©Oo{ZH$ godm H$m¶Xm B) g§{dYmZ H$m¶Xm 1867

C) {dÎmr¶ àemgH$s¶ H$m¶Xm D) {dÎm {d^mJ
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29) Production possibility curve is_______

A) Convex B) Concave

C) Vertical D) Horizontal

CËnmXZ e³¶Vm dH«$ hm .................. AgVmo.

A) ~{hJm}b B) A§Vd©H«$

C) C^m D) AmS>ìmm

30) In a perfectly competitive market, a firm's demand curve is________

A) Perfectly Elastic B) Perfectly inelastic

C) Vertical D) Convex

nyU© ñnY}V ~mOmanoR>oV CÚmoJg§ñWoMm ‘mJUr dH«$ hm ................ AgVmo.

A) nyU© bd{MH$ B) nyU© Abd{MH$

C) C^m D) ~{hJm}b

31) Choose correct Cobb-Douglas production function

A) D = f (a, b, c, d) B) Q = A La-1 Ka

C) Q = A La K1-a D) None of these

¶mo½¶ H$m°~-S>½bg CËnmXZ ’$bZ {ZdS>m

A) D = f (a, b, c, d) B) Q = A La-1 Ka

C) Q = A La K1-a D) ¶mn¡H$s Zmhr

32) The report of Vijay Kelkar Committee related to_______

A) Trade reforms

B) Center-state Financial relation

C) Disinvestment in public sector enterprises

D) Tax Reform

{dO¶ Ho$iH$a g{‘VrMm Ahdmb ............ g§~§{YV Amho.

A) ì¶mnma gwYmaUm

B) Ho|$Ð amÁ¶ Am{W©H$ g§~§Y

C) gmd©O{ZH$ joÌmVrb CnH«$‘m§‘Ü¶o{ZJwªVdUyH$

D) H$a gwYmaUm
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33) The Budgetary Deficit in the Union Budget of India is equal to______
A) Revenue Deficit plus capital deficit
B) Revenue Deficit minus capital deficit
C) Fiscal Deficit minus capital deficit
D) None of these
^maVmÀ¶m H|$Ðr¶ AW©g§H$ënmVrb A§XmOnÌr¶ VyQ> ............ g‘Vwë¶ Amho.
A) ‘hgyb VyQ> Am{U ^m§S>dbr VyQ>
B) ‘hgyb VyQ> dOm ^m§S>dbmMr VyQ>
C) ‘hgyb VyQ> Am{U ^m§S>dbr VyQ>
D) {dÎmr¶ VyQ> dOm ^m§S>dbmMr VyQ>

34) Planning from below' is known as______
A) Centralized planning B) Functional planning
C) Decentralized planning D) Structural planning
{ZåZ {Z¶moOZ ho ............. åhUyZ AmoiIbo OmVo.
A) H|${ÐV {Z¶moOZ B) H$m¶m©Ë‘H$ {Z¶moOZ
C) {dH|${ÐV {Z¶moOZ D) g§aMZmË‘H$ {Z¶moOZ

35) Difference between highest and lowest observation is 20 and coefficient of
range is 0.077 then sum of highest and lowest value is
A) 210 B) 220
C) 260 D) 240
‘hÎm‘ Am{U Ý¶y{ZÎm‘ {barjUmVrb ’$aH$ 20 Agob Am{U bdñVma JwUm§H$Mo ‘yë¶ 0.077 Agob Va
‘hÎm‘ Am{U Ý¶y{ZÎm‘ {barjUmMr ~oarO H$m¶ Agob?
A) 210 B) 220
C) 260 D) 240

36) Arrange all the four concepts of money supply M1, M2, M3 and M4 in the
ascending order in terms of their liquidity:
A) M3, M2, M1 and M4 B) M1, M2, M3 and M4
C) M4, M2, M3 and M1 D) M4, M3, M2 and M1
n¡emÀ¶m nwadR²>¶mÀ¶m Mmahr g§H$ënZm M1, M2, M3 Am{U M4 Ë¶m§À¶m VabVoÀ¶m Ñï>rZo MT>Ë¶m
H«$‘mZo ‘m§S>Ur H$am.
A) M3, M2, M1 Am{U M4 B) M1, M2, M3 Am{U M4
C) M4, M2, M3 Am{U M1 D) M4, M3, M2 Am{U M1
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37) Match the following:
List - I List - II

a) A double Kaldor-Hicks Test 1) A. Bergson
b) Compensation Principle 2) K.J. Arrow
c) Social Welfare function 3) T. Scitovsky
d) Impossibility theorem 4) Kaldor-Hicks
Codes:

a b c d
A) 4 1 3 2
B) 3 4 1 2
C) 3 4 2 1
D) 4 3 2 1
Imbrb Owidm:

gyMr - I gyMr - II
a) Xþhoar H$mëS>moa - {h³g Q>oñQ> 1) E. ~J©gZ
b) ZwH$gmZ ^anmB©Mo VÎd 2) Hoo$. Oo. A°amo
c) g‘mO H$ë¶mU H$m¶© 3) Q>r. gm¶Q>moìñH$s
d) Ae³¶Vm à‘o¶ 4) H$mëS>moa{h³g
Codes:

a b c $ d
A) 4 1 3 2
B) 3 4 1 2
C) 3 4 2 1
D) 4 3 2 1

38) According to Milton Friedman the 'income elasticity of demand for money'
is_________
A) Less than one
B) Greater than one
C) Equal to one
D) Greater than one or equal to one
{‘ëQ>Z ’«$sS>‘°ZÀ¶m ‘Vo "n¡emÀ¶m ‘mJUrMr CËnÞ bd{MH$Vm' hr ............
A) EH$ nojm H$‘r
B) EH$ nojm OmñV
C) EH$ ~amo~a
D) EH$ nojm OmñV qH$dm EH$ ~amo~a
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39) 'Bandwagon effect' is found in______
A) Relative Income Hypothesis B) Permanent Income Hypothesis
C) Life cycle Hypothesis D) Absolute Income Hypothesis
~±S>d°JZ B’o$³Q>' ............. ‘Ü¶o AmT>iVmo.
A) gmnoj CËnÞmMr J¥hrVHo$ B) H$m¶‘ñdê$nr CËnÞ J¥{hVH$
C) OrdZ MH«$ n[aH$ënZm D) nyU© CËnÞmMr J¥hrVm

40) "Golden Age" as per Mrs. Joan Robinson is (where Δ N/N is growth rate of

population and Δ K/K is growth rate of capital)
A) ΔN/N = ΔK/K B) ΔN/N > ΔK/K
C) N/N < K/KΔ Δ D) None of these

lr‘Vr OmoAmZ am°{~ÝgZ ¶m§À¶mZwgma ""gwdU©H$mi'' ........... Amho (OoWo Δ N/N hm bmoH$g§»¶oMm
dmT>rMm Xa Amho Am{U Δ K/K  hm ^m§S>dbmMm dmT>rMm Xa Amho)
A) ΔN/N = ΔK/K B) ΔN/N > ΔK/K
C) N/N < K/KΔ Δ D) ¶mn¡H$s H$mhrhr Zmhr

41) The average of the 7 numbers 7, 9, 12, x, 5, 4, 11 is 9. The missing number 'x'
is_______
A) 14 B) 12
C) 08 D) 15
7, 9, 12, x, 5, 4, 11 ¶m 7 ‘yë¶mMo ‘mÜ¶ 9 Amho. ‘m{hVr Zgbobr g§»¶m 'x' Amho.
A) 14 B) 12
C) 08 D) 15

42) According to Tobin and Bamoul the Transaction Motive Demand for Money
is_______
A) Interest Elastic
B) Interest Inelastic
C) Both Interest Elastic & Interest Inelastic
D) None of these
Q>mo{~Z Am{U ~m‘ybÀ¶m ‘Vo ì¶dhma hoVygmR>r n¡emMr ‘mJUr hr
A) ì¶mO bd{MH$
B) ì¶mO Abd{MH$
C) XmoÝhr ì¶mO bd{MV Am{U ì¶mO Abd{MH$
D) ¶mn¡H$s H$mhrhr Zmhr
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43) The credit of developing the concept of modern economic growth goes to____.

A) Arthur Lewis

B) Michael P. Todaro

C) Gunnar Myrdal

D) Simon Kuznets

AmYw{ZH$ Am{W©H$ d¥Õr g§H$ënZm {dH${gV H$aÊ¶mMo lo¶ ............... ¶m§Zm OmVo.
A) AWm}a bo{dg
B) ‘m¶H$b nr. Q>moS>mamo
C) JwÝUma {‘aS>mb
D) gm¶‘Z Hw$PZoQ>

44) Optimum Tariff rates equals_______

A) Elasticity of foreign supply of our imports

B) Reciprocal of elasticity of foreign supply of our imports

C) 1 - elasticity of foreign supply of our imports

D) Reciprocal of consumption effect of tariff

Bï>V‘ àewëH$ Xa ................. g‘mZ AgVmV.
A) Am‘À¶m Am¶mVrÀ¶m naXoer nwadR²>¶mMr bd{MH$Vm
B) Am‘À¶m Am¶mVrÀ¶m naXoer nwadR²çmÀ¶m bd{MH$VoMm nmañn[aH$
C) 1 - Am‘À¶m Am¶mVrÀ¶m naXoer nwadR²>¶mMr bd{MH$Vm
D) àewëH$mMo Cn^moJ n[aUm‘mMo nmañn[aH$

45) Sustainable development concept was introduced in_______.

A) Rio Earh Summet

B) Kyoto Conference

C) World conservation strategy

D) IMF Summet

................ ‘Ü¶o emœV {dH$mgmMr g§H$ënZm ‘m§S>br Jobr.
A) [aAmo AW© {eIa
B) ³¶moQ>mo n[afX
C) OmJ{VH$ g§dY©Z aUZrVr
D) Am¶E‘E’$ {eIa
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46) An increase in foreign income generally leads to:

A) increased exports, increased domestic output

B) decreased exports, increased domestic output

C) decreased exports, decreased domestic output

D) increased exports, decreased domestic output

naH$s¶ CËnÞmV dmT> Pmë¶m‘wio gmYmaUnUo:

A) {Z¶m©VrV dmT>, Xoem§VJ©V CËnmXZ ‘Ü¶o dmT>

B) {Z¶m©V ‘Ü¶o KQ>, Xoem§VJ©V CËnmXZ ‘Ü¶o dmT>

C) {Z¶m©©V ‘Ü¶o KQ>, Xoem§VJ©V CËnmXZ ‘Ü¶o KQ>

D) {Z¶m©VrV dmT>, Xoem§VJ©V CËnmXZ ‘Ü¶o KQ>

47) Which among the following statement is INCORRECT?

A) On a linear demand curve, all the five forms of elasticity can be depicted.

B) If two demand curves are linear and intersecting each other, then
coefficient of elasticity would be same on different demand curves at the
point of intersection.

C) If two demand curves are linear, and parallel to each other, then at a
particular price the coefficient of elasticity would be different on different
demand curves.

D) The price elasticity of demand is expressed in terms of relative not absolute
changes in price and quantity demanded.

Imbrbn¡H$s H$moUVo {dYmZ MwH$sMo Amho?

A) aofr¶ ‘mJUr dH«$ da, bd{MH$VoMo gd© nmM àH$ma {M{ÌV Ho$bo OmD$ eH$VmV

B) Oa XmoZ ‘mJUr dH«$ aofr¶ AgVrb Am{U EH$‘oH$m§Zm N>oXV AgVrb, Va N>oXZq~Xÿda doJdoJù¶m
‘mJUr dH«$m§da bd{MH$Vm JwUm§H$ g‘mZ Agob

C) Oa XmoZ ‘mJUr dH«$ aofr¶ Am{U EH$‘oH$m§Zm g‘m§Va AgVrb Va {d{eï> qH$‘Vrda bd{MH$VoMm
JwUm§H$ {^Þ ‘mJUr dH«$m§da {^Þ Agob

D) ‘mJUrMr qH$‘V bd{MH$Vm gmnoj Ñï>rZo ì¶º$ Ho$br OmVo, qH$‘V Am{U n[a‘mU ‘mJUrV n[anyU©
~Xb Zmhr



M/P ENT - 137

-15-

48) Prof. Gunnar Myrdal combines national and international forces to discuss
process of economic development on the basis of:

A) Export and import potential

B) Backwash effects and spread effects

C) Income inequalities in the economy

D) Demand and supply forces in the economy

àm. JwÞma {‘S>m©b ¶m§Zr amḯ>r¶ Am{U Am§Vaamḯ>r¶ eº$s̈Zm EH${ËÌV {dMmamV KodyZ Am{W©H$ {dH$mgmÀ¶m
à{H«$¶oÀ¶m .............. eº$s̈À¶m AmYmamda MMm© Ho$br Amho.
A) {Z¶m©V Am{U Am¶mV j‘Vm
B) àË¶mYmdr n[aUm‘ Am{U àgma n[aUm‘
C) AW©ì¶dñWoVrb CËnÞ {df‘Vm
D) AW©ì¶dñWoVrb ‘mJUr Am{U nwadR>m eº$s

49) For accepting a null hypothesis, the computed value of a test statistic should
be ______than the critical value.

A) Greater B) Less

C) Superior D) Significant

[aº$ n[aH$ënZm ñdrH$mam¶Mo Agë¶mg, ‘mnZ H$aÊ¶mV Ambobo gm§p»¶H$s MmMUr ‘yë¶ ho {ZUm©¶H$
‘yë¶mnojm ....................
A) OmñV Agmdo B) H$‘r Agmdo
C) loð> àVrMo Agmdo D) bjUr¶ Agmdo

50) Which one of the following is not a determinant of money multiplier in an
economy?

A) Currency to Deposit ratio B) Excess reserve ratio

C) Required cash reserve ratio D) Consumption to currency ratio

Imbrbn¡H$s H$moUVm KQ>H$ AW©ì¶dñWoVrb n¡gm JwUH$mMm {ZUm©¶H$ KQ>H$ Zmhr.
A) MbZmMo R>odrer Agbobo à‘mU B) A{YH$ amIrd à‘mU
C) Amdí¶H$ amoI amIrd à‘mU D) Cn^moJmMo MbZmer Agbobo à‘mU


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